大学英语（二）题库（参考答案）

一，语法单项选择

1---5/ BACBD 6---10/ DDDCB 11---15/ CACCB 16---20/ CCDDD 
21---25/ DCCCD 26---30/ DCBAD 31---35/ BACCB 36---40/ CCBCC 
41---45/ BDCCD 46---50/ DCDDC 51---55/ CBDDB 56---60/ CBCBB 
61---65/ CDDDD 66---70/ DCDCD 71---75/ CCDCA 76---80/ CCDCB 
81---85/ CDBCC 86---90/ BBADC 91---95/ DCCCD 96---100/ CBCAD
101---105/ BBACB 106---110/ DCCCB 111---115/ CCCAD 116---120/ ADBAD
121---125/ DBCBC 126---130/ BBCAB 131---135/ CABBB 136---140/ CCBCC
141---145/ AACCA 146---150/ BCCBB 151---155/ DCCCB 156---160/ CBDBC
161---165/ ADCBA 166---170/ CDABB 171---175/ CBBDC 176---180/ BDCDA

二．交际运用单项选择

（一）

1-5 ADACC 6-10 CDBBA 11-15 BCBCC 16-17 AD DAD

（二）

（三）

11-15 BBABB 16-20 ABDDA

（四）

1-5 ADDBC 6-10 BCBBB 11-15 CCCDD 16-20 AAADC
（五）

1—5. ABABB 6—10. ABBCA  11—15 BA BCB 16—20. DAABA 

三．完型填空

(一) 36~40 DBCCA  41~45 BADCA  46~50 DBABC  51~55 DCDAB

(二) 36~40 BDACB　41~45 DCADA　46~50 CBADB  51~55 ADCAB

(三) 36-40 CDABA  41—45 DCBDC  46-50 ACBDD  51-55 BCACA

(四) 36－40　CABDB　41－45ABADD　46－50BACCD　　51－55DACBC

(五) 36-40 CADBB 41-45 DACCC 46-50 BDDAC 51-55 ABBDC

(六) 36～40 DABAC 41～45 BCDAB 46～50 BDACD 51～55 ACDAD

(七) 36—40 BCDAC 41—45 DACBB 46—50 CADDB　51—55 ADACB

(八) 36—40 DCABB 41—45 DADCB 46—50 ADCCB 51—55 ABDCA

(九) 36—40 CBDAD 41—45 CABAD 46—50 BABAC 51—55 BDCAC

(十) 36—40 CCABC 41—45 BBDAB 46—50 CDCAB 51—55 BACAA

(十一) 36－40 BACDB 41－45 DBDAC 46－50 DCABA 51－55 DCCAB

(十二) 36－40 BDACA 41－45 CADDC 46－50 BCDBB 51－55 BCADA  

四．阅读理解

Passage 1  C B A C A

Passage 2  D B B C C

Passage 3  B B A C B   
Passage 4  B C D C B

Passage 5  A C C B A
Passage 6  BACDC

Passage 7  CDBDA

Passage 8  BDAAB

Passage 9  CDCDA

Passage10  BCBCA

Passage 11 AADBC 
passage 12 ABADA  
passage 13 DADBB

passage 14 CDBBD

passage 15 BA
CDD

 

passage 16 D D B A B  

passage 17 .DCDBC

passage 18 DABAD

passage19 D B B C C

passge 20 .D D C.B.B
